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QUESTION 1

Oracle Application Adapters in Service-Oriented Architecture Cloud Service (SOA CS) can connect to on-Premise
systems.

What are 2 key elements that you need to review in this architecture?

A. Account for network connectivity and latency sensitivity to the on-premise application in the architecture.

B. Ensure that Oracle Support Notes for a hybrid cloud architecture with that application are reviewed and supported.
C. Design a load balancer solution for connectivity.

D. The DMZ needs to open port 80 for proper connectivity.

Correct Answer: AC

QUESTION 2

Which four are types of links that can be created to read data and events from devices, access different data sources for
reading and writing data, and to deliver the results of analytics processing?

A. Device Message and Analyzed Message
B. Oracle Storage Cloud Service

C. Spark SQL and Oracle NoSQL

D. Oracle Database as a Service

E. Local File System

Correct Answer. ABCD

QUESTION 3

Which three Service-Oriented Architecture Cloud Service (SOA CS) Components can route a message to an end
point?

A. Oracle Mediator

B. Oracle Business Rules

C. Oracle BPEL Process Manager
D. Oracle Service Bus

Correct Answer: ABC
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QUESTION 4

Which two are NOT default start and end events in Process Cloud Service?
A. Folder start and None end event

B. SOAP start and SOAP end event

C. None start and end event

D. Task start and end event

Correct Answer: BD

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/defining-process-start-
andend.htmi#GUID-ODC7FF32-B146-4680-BE32-A2362B906564

QUESTION 5

Which schema is used for defining the field structure of an analytic object?
A. Apache Avro schema

B. XSD schema

C. Database schema

D. XSL Schema

Correct Answer: A

Reference: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/using-schemas-define-fields-analyticsobjects.html
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